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N GROUP-A
Answer any fwo questions from the following 10x2=20
2
1) Evaluate: 1im X =2 - = () 3+
} x>3 x—3 +2

1 .
(b) A firm produces x units of output at a total cost of Rs. (300x -10x? +§x3) . Find

(1) output, at which marginal cost is minimum (ii) output at which average cost is
minimum (iii) output at which average cost is equal to marginal cost.

. Ef)_)xz ¥
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2. (@) If 4={1,2,3,5,7) and B={2, 3, 4}, find A B and ANB,

(b) Two unbiased dices are thrown together. Find all possible outcomes. What is the
probability of getting sum of two faces 8?7

2+4+4

) Sum of two numbers is 12. Find the maximum value of their product.
1

raw a pie chart to present the foll

owing data on the proposed outlay during a 4+4+2
Five-Year plan of a Government.

Items Rs. (in Crores)
Agriculture 12,000
Industry and Minerals 9,000
Irrigation and Power 6,000
Education 8,000 _
Communication 5,000 '

Jb) Calculate the standard deviation for the following data:
X[ 5110f15]20] 25

Sl 1] 2 3 2 1
& If the mean and median of a frequency distribution be 35 and 33 respectively,
the mode of the distribution.

find

Turn Over /
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1.(8) For o matrix A ‘Il dind A4 A" Where A" is the transpose of A 2+4+4

lrl,'t.'l-'l Wr, =06, 0 =4 and ﬁ“ =048 find the value of e,

(¢) Fit a least squarc straight line 1o the following data taking x as independent
vanahle and y as dependent ‘-"Irinhlc

0 lH '5 21] 25
RN R 22 .1-1 30

GROUP-B

Answer any fwo questions from the following 152 = 30

. (a) What sum of money invested at 5% per annum, payable half-yearly, for two ycars 5+5+5
will amount to Rs. 10007 .
(h) Solve by Cramer's rule
Y42Qy-2=9
2x-y+3z=-2
Jx+2y+3:2=9
(¢) In a class of S0 students, 15 students read Economics, 20 read Computer Science
and 20 read Mathematics, 3 read Fconomics and Computer Science, 6 read
Computer Science and Mathematics, 5 read Economics and Mathematics, 7 read

none of the three subjects. How many students read all three subjects? (Solve this
problem using set opcration)

1) median and’rrnng;:‘uf the following daily wage distribution of 230 workers are B+7
own to be l’(s:_?n].ﬁﬂ and Rs. 34 respectively. Find the missing frequency.

Wages (Rs.) | 0-10 | 10-20 | 20-30 | 3040 | 40-50 50-60 | 60-70

Frequency 4 16 ? ? 40 ? 4

7(57FTm students obtained the following marks in Mathematics and Statistics. Calculate

the rank correlation coefficient:

Roll No. 1|2 3]|4]s|e6]7|[8]9[10f - @‘
Marks in Mathematics | 78" sT| a8 |68 |6z |25 |9d | 52| 48 | 69
Marks in Statistics 68| 42 |60 |58 |42 30| 78] 42| s8] 6
ya}'ﬁ'hc score of two batsman A and B in ten innings during a certain scason are B+7
A 132 |28 |47 |63 |74 [39 |10 |60 (96 |14 "
B |19 |31 |48 |53 |67 |90 |10 |62 |40 |80 ' @

Who is more consistent player in scoring?

(b) Using 3 year moving average method determine the trend and short-term
fluctuations for the following data:

Year | 1961 | 1962 | 1963 | 1963 | 1965 | 1966 | 1967 7 50
Values | 21 | 34 | 45 | 28 | 40 | s7 | 73 '
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